Practice Problems for Quiz 2
Section 1.2

1. Simplify the following: (leave answers with exponents)
     a.    58 (56               b.  (2m-1)3 (2m-1)4
           [514]                      [(2m-1)7]
2.  Subtract as indicated:
     (8x3 + 2x2 + 6x - 4) - (3x3 + 5x2 - 7)

       [5x3 - 3x2 + 6x + 3]
3.  Multiply as indicated    (y-1)(3y+5)   [3y2 + 2y – 5]
4.  Multiply as indicated    (m+2)(4m3 + m – 1)   

                                [4m4 + 8m3 + m2 + m – 2]

5.  Find expressions for the Revenue, Cost and Profit for selling x thousand items if the item price is $7.00, the Fixed Costs is $120,000 and the Variable cost is 3000x.
         R = 7000x

         C = 120,000 + 3000x 

         P = 4000x -120,000
Section 1.3

1. Factor out the greatest common factor from
       12x4 - 16x3 + 8x            4x(3x3 - 4x2 + 2)            

2.  Factor       2y2 + 5y – 3      (2y-1)(y+3)

3.  Factor      a2 -2ab + b2             (a-b)(a-b)
4.  Factor      8n3 + m3                   (2n+m)(4n2 -2nm + m2)   
